[ | | | | |

2 I 3 4 5 ' 6 7 8 9 | 10 11 12 13 14 15 16 ' 17 18 19 20 ' 21 22 23 24

FOT AOMESEOTTGET DN-0 I ET-NT.

1923

LFOLNr| Stueck Benennung Zeichnungs-Hr. mat Fertig-Mazse Bezugsguelle Werkstoff Bemerkung
1 1| Magnet dip1f_0_FT-BEMWV-ZU-0000028 |1A.519.8344AD Al EFREMOV INSTITUTE
2 5 5 8 2 1|Wacuum_Chamber_FT_BEWMY_ZU_0000Q FHTWMWOZ26AS A A Budker Institute of Nuclear Physics
B - 3 2| Supporting_Angle FHTWIMW o0 A A Budker Institute of Muclear Physics
4 1| Support 1452016140 Al EFREMOV INSTITUTE
1) Magnet dipif 0 FT-BEMV-ZU-0000026 1A.519.834AD 5 3 Jack 24,520 596AD A2 EFREMOV INSTITUTE
31 3| Disk 44, 502 802 Ad EFREMOV INSTITUTE
7 1| Support 1452015040 A EFREMOV INSTITUTE
2) VaCUUfn Chamber‘ FT BEMV ZU 0000026 FHTVMV026AS A @ @ g 3| Plate 44 591 942 Ad EFREMOV INSTITUTE
’ 9 3| Plate 44 551,543 Al EFREMOV INSTITUTE
m’ ! T ! 10 3| Plate 44 5591 943-1 Al EFREMOV INSTITUTE
11 4] Screw DIN 833 M10x25 Budker Institute of Nuclear Physics AZ
m 12 18] Nut DIN 934 K10 Budker Institute of Nuclear Physics AZ
13 16] Stud DIM 578 M10x65 A Budker Institute of Muclear Physics AZ
\ 14 4| Washer DIN 125 - A 10,5 Budker Institute of Nuclear Physics A2
‘ - ! 15 12| Bolt DIN 933Bolt M18x40 DIN 933 EFREMOV INSTITUTE Steel 8.82n
L N ' 18 12|'Washer 16 DIN 125 EFREMOV INSTITUTE Steel Zn
17 18| Bolt DIN 933 M10=35 EFREMOV INSTITUTE Steel 8.82n
® |- tD. 18 18]Washer 10 DIN 125 EFREMOV INSTITUTE Steel Zn
19 15| Bolt DIN 933 M12x30 EFREMOV INSTITUTE Steel Zn
CF‘] 60 ° 20 18] Washer 12 DIN 125 EFREMOV INSTITUTE Steel Zn
® 21 2| Pin 12x24 DIN 7975 EFREMOV INSTITUTE Steel
] ' ‘P‘ A
19) 4 x Bolt DIN 933 M12x30
1 20) 4 x Washer 12 DIN 125 \\\VL\\\__vx_,,,/d‘
|
K F
CF160 3\ T T 21) 2 x Pin 12x24 DIN 7979 ,
- < >
10 al L J
3) Supporting Angle FHTVMV0260008 A
) Supporting Ang | e o
w ]
(40}
Al
0
4) Support 1A.520.161AD <
Al
12) 3 x Nut DIN 934 M10 A2
g 5) Disk 4A.592.802 13) 2 x Washer DIN 125 - A 10,5 A2
N~ 14) 1 x Stud DIN 976 M10x65 A A2
T 6) Jack 2A.520.596AD C
1:2
q—
4 — (:
(o))
7) Support 1A.520.160AD \ / \ /
8) Plate 4A.591.942 o (
10) Plate 4A.591.943-01 } F W T N
‘ ‘ ‘ ‘ - - g !
N~ b e J
15) 6 x Bolt DIN 933 M16x40 L 1]
1 16) 6 x Washer 16 DIN 125
17) 4 x Bolt DIN 933 M10x35
18) 4 x Washer 10 DIN 125
o @7\ =
(49} |
[o) N
2 "{ A \GAY : N @ H E]
/ - 1 1 i

11) 1 x Screw DIN 933 M10x25 A2 1:2
12) 2 x Nut DIN 934 M10 A2
13) 2 x Washer DIN 125 - A 10,5 A2

11) 1 x Screw DIN 933 M10x25 A2
12) 2 x Nut DIN 934 M10 A2
13) 2 x Washer DIN 125 - A 10,5 A2

Vorlaufige Montagezeichnung
DMU Stand 22.10.2018

12) 3 x Nut DIN 934 M10 A2
13) 2 x Washer DIN 125 - A 10,5 A2

-

n
1 ' 2 Copying of this document and giving it to others and |Projection Rev. No. | Rev.-Doc.-No. Date Name
the use of communication of the contents thereof are

14) 1 x Stud DIN 976 M10x65 A A2

forbidden without express authority. Offenders are

liahle to the payment of damages. ALl rights are Surfaces

reserved in the event of the grant of a patent or For info rmat j_on
the registration of a utility m(ﬁiel or design. DIN 180 1302

Dimensions without Weight Scale
G 5 tolerance indication TP '
Helmholtzzentrun fir Schwerionenforschung GnbH DIN IS0 2768-nK
Planckstrasse 1, 64291 Darmstadt EN 150 13920-BF
Date Name Description Size
pravn  [25.10.2018 [Heyl, L. HEBT-Dipol V 7.5° re R=11250mm 1.6T
- - A0
Checked
Approved Drawing No. Rev. Sheet 1
FT-BEMV-MZ-0000026 - of
IA Prev. Dwg. . |Rep1. for
14 15 16 L 17 18 19 20 | 21 22 | 23 24
[ [




